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CP1_1. fEC++Hr, THIEREBLIEMKZ C ).
A. 2a
B. int
C. b.3
D. n _apple
CPl_2. HATTFHIREFF, Wi RZE ¢ ).
#include <iostream>
using namespace std;
int main ()
{
int a = 1.2;
cout<<a;

return O;

0w -
o N -

CP1_3. fE C++H, FHEAEMAME ¢ ).
A. int

B. text
C. char
D. float

CP1_4. HEMMMERRIGER, THARF SRS ERORE C .
1
2

A.

#include <iostream>

using namespace std;

int main ()

{
int a =1, b = 2;
cout<<a<<'\n'<<b;
return O;

}

B.

#include <iostream>



using namespace std;

int main ()

{

}

C.

int a =1, b = 2;
cout<<a;
cout<<b;

return O;

#include <iostream>

using namespace std;

int main ()

{

}

D.

int a =1, b = 2;
cout<<a;
cout<<endl;
cout<<b;

return O;

#include <iostream>

using namespace std;

int main ()

{

int a =1, b = 2;
cout<<a<<endl;
cout<<b;

return O;

CP1_5. PUTTFAIRER, fHi4iReE ¢ ).

#include <iostream>

#include<iomanip>

using namespace std;

int main ()

{

A.

double pi = 3.141592653;
cout<<fixed<<setprecision (3)<<pi<<endl;

return O;

3.141592653
3.141
3.142



D. 3.14

CP1 6. fEC++M,
A.

OOMNl
(@)

B
C.
D

CP1 7. ¥ int x
A.

Mb.)»bU‘l|

B
C.
D

CPl 8. ¥ int a

.5
.0

o Q w >
=

CP1l 9. W LAIERFRIA" B AR &

A. a%4 == 0 &&
B. a/4 == 0 &&
C. a/4 == |
D. a%4 == 0 ||

FikX: 2/3*3 AR C ),

=1,y = 2;, MFEZERK: ++x + y++0EZ C Do

= 1;, WPATFER: a += a/2.0; 48R E (),

REME 4 BEBR, (EHANRERL 100 BERR VRIS RIEZC D,
a%100 !
a/100 !
a/100 !
a%100 !

a
0
0
0
0

CP1_10. #a & MHMAE, MR a KTHET 60 70, flh “ A&7 B0, Sl “A
Lekg”s FHMRBSBUOERKIE ¢ ).

A.
if(a < 60)

cout<<" AN g

then

cout<<" &

if(a < 60)

cout<<" AN g

then(a > 60 ||

a == 60)

cout<<" &

if(a < 60)

cout<<" A K g

else(a > 60 ||

a == 60)

cout<<" &



D.
if(a < 60)
cout<<"z:&%"

else

cout<<"&1‘%"

CPl_11. W char grade = 'D', WHAT FILEMRHERE ).
switch (grade)
{
case 'A':
cout<<"ffi"<<endl;
break;
case 'B':
cout<<" R "<<endl;
break;
case 'C':
cout<<"Hi"<<endl;
break;
default:

cout<<"ZE"<<endl;

O aQwE

=i ==

CP1 12. PUT FHIRLFE, &R ().
#include <iostream>
using namespace std;
int main ()
{
int x = 10;
if(x > 10)
cout<<x;
else
{
if(x >= 5)
cout<<-x;
}

return O;

-10
10

Qw o



10
-10
D. 10-10

CP1_13. WL RNy 135 REFRZ ¢ ).
A.
#include <iostream>
using namespace std;
int main ()
{
int i;
for(i = 0; 1 <= 5; 1 += 2)
cout<<i;
return O;
}
B.
#include <iostream>
using namespace std;
int main ()
{
int i;
for(i = 0; 1 < 5; 1 += 2)
cout<<i;
return O;
}
C.
#include <iostream>
using namespace std;
int main ()

{

int 1i;
for(i = 1; 1 <= 5; 1 += 2)
cout<<i;

return O;
}
D.
#include <iostream>
using namespace std;
int main ()
{
int 1i;
for(i = 1; 1 < 5; 1 += 2)
cout<<i;

return O;



CP1 14. PUAT FHIRESF, 1BH) cout<<i<<endl; #IATHIREE  Ds
#include <iostream>
using namespace std;
int main ()
{
int 1 = 1;
while (i < 4)
{
cout<<i<<endl;
i++;
}

return O;

o Q W op -
BN W

cpl_15. NAREFH, Mg RN 24 K2 ¢ ).
A.
#include <iostream>
using namespace std;
int main ()
{
int i;
for(i = 1; i <= 5; i++)
{
if(i $ 2 !'= 0)
break;
cout<<i;
}
return O;
}
B.
#include <iostream>
using namespace std;
int main ()
{
int 1i;
for(i = 0; 1 <= 5; 1i++)

{



break;
cout<<i;
}
return O;
}
C.
#include <iostream>
using namespace std;
int main ()
{
int i;
for(i = 1; i <= 5; i++)
{
if(i & 2 !'=0)
continue;
cout<<i;
}
return O;
}
D.
#include <iostream>
using namespace std;
int main ()

{

int 1i;
for(i = 0; 1 <= 5; i++)
{

if(i % 2 != 0)

continue;
cout<<i;
}

return O;

CP1 16. W charstr[] ="Hello";, MPATIEA] cout<<str[1]; MHHERE C ).
A. '"H!

B. H

C. 'e'

D. e

CcPl 17. BHATERAEUMIEN 0, FEMKE ( O
A. int a[3]={0};

B. int a[3]={0,0,0,0};

C. int a[3]={0,0};



D. int a[31={0,0,0};

CPl_18. W int x[5] = {1,2,3};, WWRASEELE —DIuRm MR = o R HInKRIE
Xig Do

A. x[0] + x[2]

B. x[1] + x[3]

C. x[0] + x[3]

D. x[1] + x[2]

CPl 19. FAI5EH] char strl[] = "New"; g ¢ D
A. char strl[3] = "New";

B. char strl[4] = "New";

C. char strl[3] = {'N', 'e', "w'};

D. char strl[]; strl = "New";

cpl 20. AT FIIREF, FHaiReE ¢ ).
#include <iostream>
#include <cstring>
using namespace std;
int main ()
{
char strl[10] = "New";
char str2[] = "Year";
strcat (strl,str2);
cout<<strl;

return O;

New
Year

NewYear

O o wE -

New Year

=L wmAEE (3L 2 @, "R 15 4y, 33040

CPl_21. YMEFEF LI T IIhE:

FIWr =25 R BB = M. DR AIERIAR: UK a0 B, JHHAR
PRI A B AR T 28 = K

BN TE—ATHIN =N IEREE (R, 2R = AR =414,

i WRTTUMER AT, W <y RS AE, MfE ‘N7 iR =
BKERHNT 0 T o N, WEERKH “F7.
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BIN: 3 45
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CP1_22. YEFE/F LI T IhE:

X —ANKEER 4 WA, T2 4 TTIRFEM RS (BRNIEBED. il ira KTk
LT 60 MRS A R 4 RGP AN 0 48 KT 100 4oL, W E B
“N7,

FEA:
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HINFEG] 2:90 60 80 110

RS 2: N



